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Queslion #1

W A charged particle with a r:hargeh.m—ma}:-'s ratio of g/m = 5.7 X l_ﬂ-a Clkg twavels on a
circular path that is perpendicular to a magnedic field whose magnitude is 0.72T. How
much time does it take for the particle 1o complete one revolution?
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(i) A circndar loop of wire of aradius 8 and a long, straight wire carry corrents f; and I
where I ;= 6.61;, The loop and the straight wice lie int the same plane. Magnetic field
in the centre of the loop is zero. Find the distance # between the straight wite and
the center of the circular loop. Express your answer in terms of R,
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Question #2

) A 05— mlength of wire iy formed into a.ningh:a-mh Syuware loop in which there is a
current of 12 A, The loop is placed in 2 maprnetc Aeld of 0.12 T,
(&} What i3 the maximum targue that the loap can uxpériﬁnue?

(B} At which orientalivn of the loop with respect o the direction of the napmnetic field
does it happen? o
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) A 75-turn conducting enil has an aces of 8.5 x 107 mj and the rormal to the coil is -
parallel to the magnetic field B. The coil has a resistatice’ of 14 (L. At what rate (in
Tisy must the. magnitude of B chag &= for an indyced current of 7.0 mA to exist ip the

coil?
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Juestion #3

{1} A senies RCL ciecntit contains a 47.0- £ resistor, 8 2.0-ud' capacitor, and & 4-pld
indyctor, When the frequency is 2550 He, what is the power far:tur of the cireait?
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tan ¥ = H’L’}’c péd . Y= Aau = _35°
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{1i) A series RLC circnit has a resonant frequency of ‘1500 Hz, When operating at a
frequency other than 1500 He, the circhit has a capacitive reactance of 5.0 £ and
inductive reactance of 30,0 £, What are the valyes
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